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1(0021926) B | The most of aircraft incidents can be traced to (A ) technical problems

(B) human error (C) Management error (D) Manufacture
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2(0028340) A | Anengineer misses a crack during a rivet inspection of the horizontal
stabilizer. This failing would most likely be caused by ...
(A) ...acrophobia. (B) ... agoraphobia. (C) ... claustrophobia.

(D) ...arachnephobia.
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3(0028123) C | What is NOT a key component in an organization with a strong safety
culture ?  (A) sharing of information (B ) an atmosphere of trust

(C) ahidden agenda (D) respect for knowledge
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4(0031797) D Noise, illumination and temperature, which factor is related to human
factors in maintenance field ? (A) Noise (B) HHlumination (C)

Temperature (D) All
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5(0021953) A | Area lighting in hangar should be at least ( A) enabling to clearly read
manual text and affirm equipment locations. (B ) as bright as the
lightness at noon on ramp. (C) Doesn’t matter (D) enabling to
recognize airplanes’ shapes.
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